
GSPublisherEngine 0.57.100.100

123456789

10 11 12 13 14 15 16 17 18

30
,0

00

60,000

200
12,700

200
3,600

200

200
2,400

200
2,200

200
6,500

200 1,000 200
2,500

200
900

200

20
0 1,

60
020

0
1,

80
0

20
0

2,
00

0
20

0
2,

20
0

20
0

20
0

4,
20

0
20

0
3,

80
0

20
0

2,
20

0
20

0
4,

00
0

20
0

2,
20

0
20

0

30
,0

00

30
,0

00

X
X

 W
es

t E
le

va
tio

n

 South Elevation

 E
as

t E
le

va
tio

n

 North Elevation

kitchen

Urinal

wc wc wc

Generator
Room

OFFICE

Loading bay 01

Loading bay 02

workshop

workshop

change
room

change
room

wc

wc

duct

passage

GSPublisherVersion 0.0.100.100

Y12mm main bars@200mm c/c.

Y8mm distr. bars@200mm c/c.

100mm (1:2:4 mix)

200mm blocks
12mm waterproofing cement screed12mm waterproofing

 cement rendering

F2

15
0

BRC mesh

Outlet M.H
Inlet M.H

450x600mm M.H cover frame

T.W.L

c.i Ø 4" Inlet pipe

400

450x600mm M.H cover frame

10mm Ø main bars200mm blocks

150mm (1:2:4 mix)

c.i Ø 4" Outlet pipe
I.L

G.L G.L

400

Section Y-Y. 1:50

100

100

12
0

50
0

F1

A

C

B

D

Septic tank plan 1:100

YY

EA
C

B

450x600mm M.H cover frame

Y12mm main bars@200mm c/c.

Y12mm main bars@200mm c/c.

Y8mm distr. bars@200mm c/c. Dia+2(200)

200 Dia 200

D
ia

+2
(2

00
)

20
0

D
ia

20
0

Soak Pit Plan, Scale 1:50

KK

TABLE FOR SOAK PIT

TYPE

1

2

3

NUMBER OF
USERS

DEPTH (H)
METERS

DIA (D)
METERS

AREA OF
ABSORPTION

25 5 3.25 59.35

50 7 3.6 89.30

100 10 5.0 196.25

SECTION V-V NOTES:
1. ALL DIMENSIONS ARE IN MM
2. THE FILLING OF BRICK BATS IN SOAKPIT SHALL

BE DONE SIMULTANEOUS WITH CONSTRUCTION OF
BRICK WALL AS WORK PROGRESSES

3. C.I. PIPE SHALL CONFIRM TO IS:3456
4. DEPTH AND DIA. CAN BE SUITABLY ADJUSTED TO GIVE

THE ABSORPTIVE AREA DEPENDING UPON THE
SUBSOIL WATER TABLE .

5. BOTTOM OF THE SOAKPIT SHOULD NOT BE
LESS THAN 600MM ABOVE THE SUBSOIL WATER

CAPACITY
(LITRES)

NO. OF
PERSONS

DISLUDGING
INTERVAL (Yrs)

DIMENSIONS IN MILLIMETERS
A B C D E F1 F2

3000

6000

9000

12000

15000

800

20

30

40

50

1000 1000 3000 800 1500 1400

3600 1400 1500

1400 1200 1800

4000 1500 1300

1600 2400 1500

800

800

800

800

1600

1400

1400

1400

1200

3600

4000

2000

1200

1300

1400

1500

10

CAPACITY
(LITRES)

NO. OF
PERSONS

DISLUDGING
INTERVAL (Yrs)

DIMENSIONS IN MILLIMETERS
A B C D E F1 F2

3000

6000

9000

12000

15000

800

20

30

40

50

1000 1000 3000 800 1500 1400

3600 1400 1500

1400 1200 1800

4000 1500 1300

1600 2400 1500

800

800

800

800

1600

1400

1400

1400

1200

3600

4000

2000

1200

1300

1400

1500

10

Drg no:
Arch/023/D4123532390

Checked & Approved by:
.............................
Sign:.......................
Date:.......................

Sheet No: 01 OF 01

Revision:
...........................
...........................

PROJECT:

Date drawn:
FEB 2024

GENERAL NOTES

All dimensions are shown in mm unless otherwise specified .
  drawings are not to be scaled Only figured dimensions are to be used .
All slabs at ground level to be poured over 1000 gauge polythene sheeting on
50mm thick murram blinding on hardcore.
   All soils under slabs and around external foundation to be poised for termite
control.
 Final depth of foundation to be determined on site and to S.Es approval.
All walls less than 200mm thick to be reinforced with hoop iron at every alternate
course.
Any descriepancy in dimensions to be reported to the Architect before any work
commences
All the construction works to comply with the structural drawings and the latest
KBC, standards code of practice, local authority bylaws and regulations
PV denotes permanent ventilation and must be provided above all windows and
doors openings.
 Concrete grade 20 (1:2:4 nominal mix)
Maximum aggregate size 20mm
Remove all black cotton soil & backfill with hardcore compacted to specification
Drwg to be read in conjuction with Architectural & service engineer Drwg
Interlocking tiles on two layers of mastic alsphalt
R.C staircase slab to structural design detail
Foundation to lie on a firm hard strutum to structural designers approval
R.C. strip footing to structural designers details
R.C. roof slab to structural design details on r.c. beams on masonry wall to
structural details
Stairs case details
Treads 300mm
Risers 150mm
Waist to structural details
          900mm min. high metal balustrading
Ventilation blocks to designers approval
Casement window glazed to approval
No cuting of concrete without express approval of the Architect or S.E.
Electrical
all conduits must be laid before plastering & all testing Completed before
plastering.
Mechanical
Drains passing beneath building and driveways to be cased in concrete 150mm
thick.
All underground foul and waste drain pipes shall be of p .v.c. & to comply with BS
5225.
All inspection chamber covers & framing shall be cast iron & to comply with BS
497 Table 2 Grade A.
The storm water drains to comply with BS 556
Minimum slope in the drain pipes to be 1%
  Dustbin cubicles
 all dustbin cubicles to be protected againt rain and animals.

CENTRAL MECHANICAL WORKSHOP 

DESIGNED BY : P.S ODIPO

TABLE FOR SEPTIC



GSPublisherEngine 0.57.100.100

123456789

10 11 12 13 14 15 16 17 18

X
X

 W
es

t E
le

va
tio

n

 South Elevation

 E
as

t E
le

va
tio

n

 North Elevation

200
4,800

200
6,500

200 1,000 200
3,600

200

20
0

3,
60

0
20

0
4,

40
0

20
0

200
2,400

200
2,200

200
6,500

200
4,800

200

20
0

4,
20

0
20

0
3,

80
0

20
0

1,
80

0
20

0
4,

00
0

20
0

2,
20

0
20

0

Urinal

wc wc wc

OFFICE first floor plan
duct

passage

OFFICE

OFFICE

123456789

10 11 12 13 14 15 16 17 18

30
,0

00

21,550 16,900 21,550

200
12,700

200
3,600

200

200
2,400

200
2,200

200
6,500

200 1,000 200
2,500

200
900

200

20
0 1,

60
020

0
1,

80
0

20
0

2,
00

0
20

0
2,

20
0

20
0

20
0

4,
20

0
20

0
3,

80
0

20
0

2,
20

0
20

0
4,

00
0

20
0

2,
20

0
20

0

30
,0

00

15
,0

00
15

,0
00

kitchen

Urinal

wc wc wc

Generator
Room

OFFICE

Loading bay 01

Loading bay 02

workshop

workshop

change
room

change
room

wc

wc

parking parking

Driv
e w

ay

Driv
e w

ay

Drive way

Drive way

Site plan

duct

passage

Drg no:
Arch/023/D4123532390

Checked & Approved by:
.............................
Sign:.......................
Date:.......................

Project titles:
Floor plan, Elevation, Section &
Details.

Sheet No: 01 OF 01

Revision:
...........................
...........................

Scales:
1:20, 1:50, 1:100, 1:200, 1:500

Date drawn:
.....FEB 2024

CENTRAL MECHANICAL WORKSHOP

DESIGNED BY P. S ODIPO

ROOF PLAN DETAILS

Steel truss rafters

50 mm thick murram blinding

at least 300 mm deep well compacted hardcore
200 mm thick foundation walling

150 mm thick concrete slab with BRC mesh
 reinforcementgauge 1000 mm polythene sheet as d

200x600mm strip footing
SECTION X/X DETAILS

1000ltr water storage tank

IT4 Galvanized sheet as walling

200mm masonry walling

3,
10

0
6,

90
0

10
,0

00

3,
00

0
3,

10
0

3,
80

0



Te
kl

a 
st

ru
ct

ur
es

 ISOMETRIC VIEW
1

2

3

4

5

6

7

8

9

10

11

A

B

C

D

PROJECT:

TITLE:

SCALE:

DATE:DRAWN:

CHECKED:

DRAWING No: KGN OPS CMW 00101 REV:

1:75

p.s.o

E-101

APPROVED: Eng .J Odumbe:

A

DESIGNED
PETER ODIPO:

PROJECT No:

ISOMETRIC VIEW
CENTRAL MECHANICAL 

WORKSHOP

08.03.20242 A ISSUED FOR APPROVAL
08.03.20241 A ISSUED FOR APPROVAL

DateRevision DescriptionMarkRev

Model :- PROPOSED MULTI_SPAN  CRANE BUILDING



Te
kl

a 
st

ru
ct

ur
es

BASE PLATE PLAN AT EL+0.000(B.O.BP)

Detail - 1

Detail - 

Detail - 3

1A - 1A

3A - 3A Detail - 2

2A - 2A

B

8321 4 5 6 7 9 10 11

A

C

D

Model :- PROPOSED MULTI_SPAN  CRANE BUILDING

PROJECT:

TITLE:

SCALE:

DATE:DRAWN:

CHECKED:

DRAWING No: REV:

1:3.5

P.S.O

E-102

APPROVED: Eng. J Odumbe

A

DESIGNED
PETER ODIPO:

PROJECT No:

KGNOPS CMW 00102

BASE PLATE 
CENTRAL MECHANICAL 

WORKSHOP

08.03.20242 A ISSUED FOR APPROVAL
08.03.20241 A ISSUED FOR APPROVAL

DateRevision DescriptionMarkRev

TYP
Detail 1

Detail 3
TYP

TYP

57
27

COLUMN
UC356*406*551

COLUMN
UC356*406*551

50
00

6000

GABLE COLUMN
UB254*146*31 COLUMN

UC305*305*97

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

50
00

GABLE COLUMN
UB254*146*31

27000

COLUMN
UC356*406*551

26
73

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551 COLUMN

UC356*406*551
COLUMN
UC356*406*551

6000

15000

15
00

0

GABLE COLUMN
UB254*146*31

COLUMN
UC356*406*551

GABLE COLUMN
UB254*146*31

GABLE COLUMN
UB254*146*31

84
00

COLUMN
UC356*406*551

GABLE COLUMN
UB254*146*31

COLUMN
UC305*305*97

COLUMN
UC356*406*551

30
00

0

3000

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

GABLE COLUMN
UB254*146*31

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC305*305*97

COLUMN
UC305*305*97

COLUMN
UC356*406*551

COLUMN
UC305*305*97 Detail 2

15
00

0
84

00

50
00

50
00

50
00

50
00

60006000600060006000600060006000

60000

300060006000

95 95

1A 1A 

PLATE WASHER
FLT20*120

BASE PLATE
PLT40*800

COLUMN
UC356*406*551

STIFFENER
FLT20*250

12 - 51 Ø HOLES
FOR M42 BOLTS
ISO 4017

800

80
0

21
5

85
85

21
5

75

3A

3A

20
0

PLATE
FLT12*200

PLATE WASHER
PLT4*60

GABLE COLUMN
UB254*146*31

4 - 22 Ø HOLES
FOR M16 BOLTS
ISO 4017

75

300

63
63

STIFFENER
FLT8*150

25
011

0

COLUMN
UC356*406*551

STIFFENER
FLT20*140

BASE PLATE
PLT40*800 12 - 51 Ø HOLES

FOR M42 BOLTS
ISO 4017

400

40

400

40

4 - 22 Ø HOLES
FOR M16 BOLTS
ISO 4017

GABLE COLUMN
UB254*146*31

PLATE
FLT8*150

PLATE WASHER
PLT4*60

6363

15
0

12

PLATE
FLT25*400

4 - 26 Ø HOLES
FOR M20 BOLTS
ISO 4017

COLUMN
UC305*305*97

PLATE
FLT8*150

PLATE WASHER
PLT4*60 63

2A 2A

63

40
0

7575

400 200

PLATE
FLT25*400 4 - 26 Ø HOLES

FOR M20 BOLTS
ISO 4017

PLATE
FLT8*150

PLATE WASHER
PLT4*60

COLUMN
UC305*305*97

200



Te
kl

a 
st

ru
ct

ur
es

ROOF PLAN VIEW

TYPICAL DETAIL FOR ROOF BRACE

Detail - B
TYP

BB - BB

A - A

TYPICAL DETAIL FOR PURLIN STAY

TYPICAL DETAIL FOR SAG ROD

Detail - C
TYP

TYPICAL DETAIL OF ROOF BRACE

3
1 2 4 5 6 7 8 9

A

B

C

D

10 11

Model :- PROPOSED MULTI_SPAN  CRANE BUILDING

PROJECT:

TITLE:

SCALE:

DATE:DRAWN:

CHECKED:

DRAWING No: REV:

1:3.5

P.S.O

KGN OPS CMW 103

APPROVED: Eng.J. Odumbe

A

DESIGNED:
PETER 
ODIPO

PROJECT No:

ROOF PLAN
CENTRAL MECHANICAL 

WORKSHOP

08.03.20242 A ISSUED FOR APPROVAL
08.03.20241 A ISSUED FOR APPROVAL

DateRevision DescriptionMarkRev

M
AT

C
H

 L
IN

E 
 A

-A
E1

04

6000

24000

PURLIN
CFLZ175*65*20*2 TYP

3000

6000

3000

PORTAL RAFTER
UB356*171*45 TYP

ROOF BRACE
RSA60*60*6 TYP

EAVES GUTTER
915  GUTTER PRE-GAL 2MM THK TYP

VALLEY GUTTER
VG1220 TYP

EAVES GUTTER
915  GUTTER PRE-GAL 2MM THK TYP

ROOF BRACE
RSA70*70*6 TYP

SAG ROD 
ROD12 TYP

SAG ROD 
ROD12 TYP

PURLIN
CFLZ175*65*20*2 TYP

PURLIN STAY
RSA40*40*3 TYP

P

P

Detail A

Detail B

Detail C

1200030006000600029253075

60000

60006000600060006000600060006000

3000300030003000300030003000300030003000300030003000300030003000300030003000
15

00
0

15
00

0
41

81
42

19

60

ROOF BRACE
RSA60*60*6
TYP 60

ROOF BRACE
RSA60*60*6
TYP

2 - 18 Ø HOLES
FOR M16 BOLTS
ISO 4017

ROOF BRACE
RSA60*60*6
TYP

2 - 14 Ø HOLES
FOR M12 BOLTS
ISO 4017PLATE

PLT6*135.1
TYP

2 - 14 Ø HOLES
FOR M12 BOLTS
ISO 4017

187 100

29°

56

60

ROOF BRACE
RSA70*70*6
TYP

60

ROOF BRACE
RSA70*70*6
TYP

2 - 18 Ø HOLES
FOR M16 BOLTS
ISO 4017

ROOF BRACE
RSA70*70*6
TYP

PURLIN
CFLZ175*65*20*2
TYP

PLATE
PLT6*208.6
TYP

2 - 18 Ø HOLES
FOR M16 BOLTS
ISO 4017

94

30 PURLIN
CFLZ175*65*20*2
TYP

FISH PLATE
PLT3*100
TYP

PORTAL RAFTER
UB356*171*45
TYP

PLATE
FLT6*120
TYP

603060

60 305

94

30
60

PORTAL RAFTER
UB356*171*45
TYP

PLATE
FLT6*120
TYP

PURLIN STAY
RSA40*40*3
TYPPLATE

FLT6*80
TYP

30

PURLIN
CFLZ175*65*20*2
TYP

305

39
6

40 4848

6

526

6

PURLIN
CFLZ175*65*20*2 TYP

PURLIN STAY
RSA40*40*3 TYP

94

PORTAL RAFTER
UB356*171*45 TYP

SAG ROD 
ROD12 TYP

1 - 14 Ø HOLES
FOR M12 BOLTS
ISO 4018

A

A

B

B

88

60

60

21
0

ROOF BRACE
RSA70*70*6
TYP

ROOF BRACE
RSA70*70*6
TYP

PLATE
PLT6*149.8
TYP

60



Te
kl

a 
st

ru
ct

ur
es

ROOF PLAN VIEW

TYPICAL DETAIL FOR EAVES GUTTER

Front view

TYPICAL DETAIL FOR VALLEY GUTTER

1110

A

B

C

9

PROJECT:

TITLE:

SCALE:

DATE:DRAWN:

CHECKED:

DRAWING No: REV:

1:5

P.S.O

KGN OPS CMW 104

APPROVED: Eng. J Odumbe

A

DESIGNED: BY
PETER ODIPO

PROJECT No:

ROOF PLAN
CENTRAL MECHANINICAL 

WORKSHOP

08.03.20242 A ISSUED FOR APPROVAL
08.03.20241 A ISSUED FOR APPROVAL

DateRevision DescriptionMarkRev

Model :- PROPOSED MULTI_SPAN  CRANE BUILDING

M
AT

C
H

 L
IN

E 
 A

-A
E-

10
3

A

A

C

C

15
00

0

B

B

30003000

84
00

18
0

HAUNCH
UB356*171*45
TYP

PURLIN
CFLZ175*65*20*2
TYP

8 - 12 Ø HOLES
FOR M10 BOLTS
4.8XOX

PLATE
PLT6*232.8
TYP

PORTAL RAFTER
UB356*171*45
TYP

STUB RAFTER
RSA50*50*6
TYP

7 - 12 Ø HOLES
FOR M10 BOLTS
4.8XOX

EAVES GUTTER
915  GUTTER PRE-GAL 2MM THK
TYP CAP PLATE

PLT10*418.5
TYP

2 - 14 Ø HOLES
FOR M12 BOLTS
ISO 4018

4 - 18 Ø HOLES
FOR M16 BOLTS
ISO 4017

60
10

0
10

0

997

40

10
0

90

10
5

10
5

31
50

50
50

26

40
23

606060606032

812

1091

36
0

24
5

1466

1238

1010

98

SPOUT
PD195*2
TYP

EAVES GUTTER
915  GUTTER PRE-GAL 2MM THK
TYP

25

SAG_ROD
ROD12
TYP

VALLEY GUTTER
VG1220
TYP

PURLIN
CFLZ175*65*20*2
TYP

PLATE
PLT3*100
TYP

HAUNCH
UB356*171*45
TYP

HAUNCH
UB356*171*45
TYP

PORTAL RAFTER
UB356*171*45
TYP

PORTAL RAFTER
UB356*171*45
TYP

STIFFENER
PLT6*79
TYP

PURLIN STAY
RSA40*40*3
TYP

COLUMN
UC356*406*551
TYP

25



Te
kl

a 
st

ru
ct

ur
es

CRANE PLAN

Front View

B - B

I  - I

TYPICAL DETAIL FOR CRANE BEAM G  - G

61

D

2 3 4 5 7 8 9

A

B

C

10 11

PROJECT:

TITLE:

SCALE:

DATE:DRAWN:

CHECKED:

DRAWING No: REV:

1:3.5

P.S.O

KGNOPS CMW 105

APPROVED: Eng. J.Odumbe

A

DESIGNED:

PETER ODIPO

PROJECT No:

CRANE PLAN
CENTRAL MECHANICAL 

WORKSHOP

08.03.20242 A ISSUED FOR APPROVAL
08.03.20241 A ISSUED FOR APPROVAL

DateRevision DescriptionMarkRev

Model :- PROPOSED MULTI_SPAN  CRANE BUILDING

6000 6000 6000

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

CRANE BEAM
UB457*191*98
TYP

6000 6000

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

6000 6000

COLUMN
UC356*406*551
TYP

60000
6000

CRANE BEAM
UB457*191*98
TYP

SURGE GIRDER
RSA50*50*6
TYP

CRANE BEAM
UB457*191*98
TYP

SURGE GIRDER
RSA50*50*6
TYP

CRANE BEAM
UB457*191*98
TYP

SURGE GIRDER
RSA50*50*6
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC305*305*97
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

F

F

G

G

30
00

0

15
00

0
15

00
0

84
00

60006000

60

12 - 22 Ø HOLES
FOR M20 BOLTS
ISO 4017

SPLICE PLATE
FLT12*250
TYP 8080

25
0

80

340

60
60

END PLATE
FLT10*250
TYP

SURGE GIRDER
RSA50*50*6
TYP

BEAM
UB457*191*98
TYP

CRANE BEAM
UB457*191*98
TYP

HAUNCH
UB457*191*98
TYP

CRANE BEAM
UB457*191*98
TYP

SURGE GIRDER
RSA50*50*6
TYP

1 - 18 Ø HOLES
FOR M16 BOLTS
ISO 4017

12 - 22 Ø HOLES
FOR M20 BOLTS
ISO 4017

9

14
4

COLUMN
UC356*406*551
TYP

4 - 22 Ø HOLES
FOR M20 BOLTS
ISO 4017

4x STIFFNER
FLT6*75
TYP

626

CRANE BEAM
UB457*191*98
TYP

TIE BEAM
SHS100*100*3.0
TYP

CRANE BEAM STOPPER
UB457*191*98
TYP

4 - 22 Ø HOLES
FOR M20 BOLTS
ISO 4017

TIE BEAM
SHS100*100*3.0
TYP

ANGLE
RSA50*50*6
TYP

COLUMN
UC356*406*551
TYP

TIE BEAM
SHS100*100*3.0
TYP

CRANE BEAM
UB457*191*98
TYP

CRANE BEAM
UB457*191*98
TYP

HAUNCH
UB457*191*98
TYP

BEAM
UB457*191*98
TYP

BEAM
UB457*191*98
TYP

H

H

I

I



Te
kl

a 
st

ru
ct

ur
es

CRANE PLAN

TYPICAL DETAIL FOR SURGE GIRDER ( DETAIL - D)
TYPICAL DETAIL FOR SURGE GIRDER ( DETAIL - E)

SURGE GIRDER PLAN VIEW

TYPICAL DETAIL FOR CRANE BEAM CONNECTION

B

A

1110

9

C

PROJECT:

TITLE:

SCALE:

DATE:DRAWN:

CHECKED:

DRAWING No: REV:

1:5

P.S.O

KGN OPS CMW 106

APPROVED:Eng. J Odumbe

A

DESIGNED:
PETER ODIPO

PROJECT No:

CRANE PLAN
CENTRAL MECHANICAL 

WORKSHOP

08.03.20242 A ISSUED FOR APPROVAL
08.03.20241 A ISSUED FOR APPROVAL

DateRevision DescriptionMarkRev

Model :- PROPOSED MULTI_SPAN  CRANE BUILDING

M
AT

C
H

 L
IN

E 
 B

-B
E1

05

SURGE GIRDER
RSA50*50*6
TYP

CRANE BEAM
UB457*191*98
TYP

CRANE BEAM
UB457*191*98
TYP

CLADDING_RAIL
CFLZ175*65*20*2
TYP

CRANE BEAM
UB457*191*98
TYP

CRANE BEAM
UB457*191*98
TYP

SURGE GIRDER
RSA50*50*6
TYP

D

D

E

E

G

G

PLATE
PLT6*83.5
TYP

1258

FF

PLATE
PLT6*112.5
TYP

SURGE GIRDER STAY
RSA50*50*6
TYP

SURGE GIRDER STAY
RSA50*50*6
TYP CRANE BEAM

UB457*191*98
TYP

CRANE BEAM
UB457*191*98
TYP

PLATE
PLT6*112.5
TYP

ANGLE
RSA50*50*6
TYP

54

PLATE
PLT6*83.5
TYP

+6365

548

524500

52454

23
3

ANGLE
RSA50*50*6
TYP

32
0

CRANE BEAM
UB457*191*98
TYP

45

PLATE
PLT6*83.5
TYP

PLATE
PLT6*127.2
TYP

ANGLE
RSA50*50*6
TYP

SURGE GIRDER
RSA50*50*6
TYP

ANGLE
RSA50*50*6
TYP

+6365

487

395

ANGLE
RSA50*50*6
TYP

1000 1000

6000

600
CRANE BEAM
UB457*191*98
TYP

CRANE BEAM
UB457*191*98
TYP

CRANE BEAM
UB457*191*98
TYP

CRANE BEAM
UB457*191*98
TYP

ANGLE
RSA50*50*6
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

60010001000405

62
9

62
9

725

COLUMN
UC356*406*551
TYP

629

HAUNCH
UB457*191*98
TYP

HAUNCH
UB457*191*98
TYP

BEAM
UB457*191*98
TYP

BEAM
UB457*191*98
TYP

CRANE BEAM
UB457*191*98
TYP

CRANE BEAM
UB457*191*98
TYP

SPLICE PLATE
FLT12*250
TYP

END PLATE
FLT10*250
TYP

TIE BEAM
SHS100*100*3.0
TYP

38
5

60
6060

14
4

18
0

629

671 67
1

100

44
°96

725



Te
kl

a 
st

ru
ct

ur
es

AA - AA

Detail - A
TYP

Detail - B
TYP

Detail - C
TYP

ELEVATION ALONG GRID LINE - 1

4A - 4A

BC

EL+0.000

EL+3.000

EL+6.300

EL+9.000

EL+10.59205

D

PROJECT:

TITLE:

SCALE:

DATE:DRAWN:

CHECKED:

DRAWING No: REV:

1:5

P.S.O

KGN OPS CMW 107

APPROVED: Eng. J Odumbe

A

DESIGNED
PETER ODIPO:

PROJECT No:

GRID 1 SECTION
CENTRAL MECHANICAL 

WORKSHOP

08.03.20242 A ISSUED FOR APPROVAL
08.03.20241 A ISSUED FOR APPROVAL

DateRevision DescriptionMarkRev

Model :- PROPOSED MULTI_SPAN  CRANE BUILDING

PURLIN
CFLZ175*65*20*2
TYP

PORTAL RAFTER
UB356*171*45
TYP

HAUNCH
UB356*171*45
TYP

COLUMN
UC356*406*551
TYP

STUB RAFTER
RSA50*50*6
TYP

EAVES GUTTER
915  GUTTER PRE-GAL 2MM THK
TYP

4 - 18 Ø HOLES
FOR M16 BOLTS
ISO 4017

10 - 26 Ø HOLES
FOR M24 BOLTS
ISO 4017

END PLATE
FLT12*250
TYP

1093

536

100

12°

22

4 - 18 Ø HOLES
FOR M16 BOLTS
ISO 4017

1760

754

2 - 14 Ø HOLES
FOR M12 BOLTS
ISO 4018

90

APEX HAUNCH
UB356*171*45
TYP

90
90

45

100

12°

21

754

2x END PLATE
FLT10*180
TYP

PLATE
FLT6*80
TYP

PORTAL RAFTER
UB356*171*45
TYP

PLATE
FLT6*80
TYP

APEX HAUNCH
UB356*171*45
TYP

PORTAL RAFTER
UB356*171*45
TYP

PURLIN
CFLZ175*65*20*2
TYP

264

10
0

70

END PLATE
FLT12*250
TYP

VALLEY GUTTER
VG1220
TYP

PURLIN
CFLZ175*65*20*2
TYP

PORTAL RAFTER
UB356*171*45
TYP PORTAL RAFTER

UB356*171*45
TYP

HAUNCH
UB356*171*45
TYP

HAUNCH
UB356*171*45
TYP

COLUMN
UC356*406*551
TYP

10 - 26 Ø HOLES
FOR M24 BOLTS
ISO 4017

10 - 26 Ø HOLES
FOR M24 BOLTS
ISO 4017

END PLATE
FLT12*250
TYP

1093

536
536

100

12°

21

EL+10821

536

1350

AA

AA

GABLE COLUMN
UB254*146*31
TYP

1350

1350

COLUMN
UC356*406*551
TYP

5000

GABLE COLUMN
UB254*146*31
TYP

7667SOP

PORTAL RAFTER
UB356*171*45
TYP

30000

5000

7667SOP

CLADDING_RAIL
CFLZ175*65*20*2
TYP

Detail A CRANE BEAM BRACKET
UB457*191*98
TYP

PORTAL RAFTER
UB356*171*45
TYP

GABLE COLUMN
UB254*146*31
TYP

15
92

SO
P

GABLE COLUMN
UB254*146*31
TYP

125

125

1350

536

Detail C

1350

5000 5000

1350

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

PORTAL RAFTER
UB356*171*45
TYP

PORTAL RAFTER
UB356*171*45
TYP

CRANE BEAM
UB457*191*98
TYP

TIE BEAM
SHS100*100*3.0
TYP

Detail B

7667SOP 7667SOP

1350

1350

1350

1350

100

21

50005000



Te
kl

a 
st

ru
ct

ur
es

ELEVATION ALONG GRID LINE - D

ELEVATION ALONG GRID LINE - C

EL+0.000

9

EL+3.000

831 112 10

EL+10.59205

4 5 6 7

EL+6.300

EL+9.000

8

EL+9.000

EL+6.300

111 2 3 4 5 6 7 9 10

EL+0.000

EL+3.000

EL+10.59205

08.03.20241 A ISSUED FOR APPROVAL
DateRevision DescriptionMarkRev

PROJECT:

TITLE:

SCALE:

DATE:DRAWN:

CHECKED:

DRAWING No: REV:

1:65

P.S.O

KGN OPS CMW 108

APPROVED: Eng. J Odumbe

A

DESIGNED:
PETER ODIPO

PROJECT No:

 LONGITUDANAL 
SECTION  

CENTRAL MECHANICAL 
WORKSHOP

Model :- PROPOSED MULTI_SPAN  CRANE BUILDING

COLUMN
UC356*406*551
TYP

VERTICAL_BRACE
RSA70*70*6

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

VERTICAL_BRACE
RSA70*70*6

COLUMN
UC356*406*551
TYP

EAVES GUTTER
915  GUTTER PRE-GAL 2MM THK
TYP

COLUMN
UC356*406*551
TYP

CLADDING_RAIL
CFLZ175*65*20*2

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

SAG ROD 
ROD12

VERTICAL_BRACE
RSA70*70*6

BEAM
UB457*191*98

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP COLUMN

UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

ANGLE
RSA50*50*6
TYP

VALLEY GUTTER
VG1220
TYP



Te
kl

a 
st

ru
ct

ur
es

ELEVATION ALONG GRID LINE - B

74

EL+0.000

2 101 9

EL+3.000

5 63 8 11

EL+6.300

EL+9.000

EL+10.59205

PROJECT:

TITLE:

SCALE:

DATE:DRAWN:

CHECKED:

DRAWING No: REV:

1:65

P.S.O

KGN OPS CMW 109

APPROVED:Eng.J Odumbe

A

DESIGNED:
PETER ODIPO

PROJECT No:

 LONGITUDANAL 
SECTION

CENTRAL MECHANICAL 
WORKSHOP  

08.03.20241 A ISSUED FOR APPROVAL
DateRevision DescriptionMarkRev

Model :- PROPOSED MULTI_SPAN  CRANE BUILDING

HAUNCH
UB356*171*45

COLUMN
UC305*305*97

PORTAL RAFTER
UB356*171*45

MAIN BEAM
UB356*171*45

COLUMN
UC356*406*551

COLUMN
UC356*406*551

PORTAL RAFTER
UB356*171*45

COLUMN
UC305*305*97

STRINGER
CFC250*75*8

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

PORTAL RAFTER
UB356*171*45

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

COLUMN
UC356*406*551

MAIN BEAM
UB356*171*45

MAIN BEAM
UB356*171*45

PORTAL RAFTER
UB356*171*45

COLUMN
UC356*406*551

EAVES GUTTER
915  GUTTER PRE-GAL 2MM THK

VERTICAL_BRACE
RSA70*70*6

CLADDING_RAIL
CFLZ175*65*20*2



Te
kl

a 
st

ru
ct

ur
es

MEZZANINE FLOOR PLAN LAYOUT

12A - 12A

Detail -

Detail -

ELEVATION ALONG GRID LINE - A

1 82

EL+6.300

EL+3.000

EL+0.000

76543

PROJECT:

TITLE:

SCALE:

DATE:DRAWN:

CHECKED:

DRAWING No: REV:

1:5

P.S.O

KGN OPS CMW 110

APPROVED: Eng.J Odumbe

A

DESIGNED:
PETER ODIPO

PROJECT No:

A-A SECTION
CENTRAL MECHANICAL 

WORKSHOP

08.03.20242 A ISSUED FOR APPROVAL
08.03.20241 A ISSUED FOR APPROVAL

DateRevision DescriptionMarkRev

Model :- PROPOSED MULTI_SPAN  CRANE BUILDING

150015001500

TREAD
PLT4*305
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC305*305*97
TYP

COLUMN
UC305*305*97
TYP

GABLE COLUMN
UB254*146*31
TYP

GABLE COLUMN
UB254*146*31
TYP

GABLE COLUMN
UB254*146*31
TYP

COLUMN
UC305*305*97
TYP

COLUMN
UC305*305*97
TYP

COLUMN
UC356*406*551
TYP

COLUMN
UC356*406*551
TYP

SECONDARY BEAM
UB305*102*25
TYP

SECONDARY BEAM
UB305*102*25
TYP

HANDRAIL
PIPE 40NB-B
TYP

15001500150015001500150015003000

18000

84
00

GABLE COLUMN
UB254*146*31
TYP

9201SOP

21

12°

100

UU

APEX HAUNCH
UB356*171*45
TYP

HAUNCH
UB356*171*45
TYP

9201SOP

1400

1400
375

1400

COLUMN
UC305*305*97
TYP

GABLE COLUMN
UB254*146*31
TYP

GABLE COLUMN
UB254*146*31
TYP

COLUMN
UC305*305*97
TYP

PORTAL RAFTER
UB356*171*45
TYP

PORTAL RAFTER
UB356*171*45
TYP

MAIN BEAM
UB356*171*45
TYP

MAIN BEAM
UB356*171*45
TYP

MAIN BEAM
UB356*171*45
TYP

MAIN BEAM
UB356*171*45
TYP

HAUNCH
UB356*171*45
TYP

1400

1400

1400

245

10
2°



Te
kl

a 
st

ru
ct

ur
es

ELEVATION ALONG GRID LINE 2 - 10

Detail - A
TYP

Detail - B
TYP

Detail - C
TYP

TYPICAL ENDPLATE DETAIL(A-A)
TYPICAL END PLATE DETAIL (B-B)

TYPICAL END PLATE DETAIL(C-C)

EL+6.300

EL+9.000

A B C D

EL+0.000

EL+3.000

EL+10.59205

B

EL+9.000

EL+10.59205

C

EL+9.000

2

EL+9.000

2

EL+10.59205

2

EL+9.000
PROJECT:

TITLE:

SCALE:

DATE:DRAWN: P.S.O

CHECKED:

DRAWING No: REV:

1:5

KGN OPS CMW 111

APPROVED: Eng. J Odumbe

A

DESIGNED:
PETER ODIPO

PROJECT No:

2-10 SECTION
CENTRAL MECHANICAL 

WORKSHOP

08.03.20241 A ISSUED FOR APPROVAL
DateRevision DescriptionMarkRev

Model :- PROPOSED MULTI_SPAN  CRANE BUILDING

1350

1350

7667SOP

533
1350

1350

15
92

SO
P

COLUMN
UC356*406*551

CLADDING_RAIL
CFLZ175*65*20*2

128
128

1350

15
92

SO
P

HAUNCH
UB457*191*98

CRANE BEAM
UB457*191*98

PORTAL RAFTER
UB356*171*45

7667SOP 7667SOP

COLUMN
UC356*406*551

PORTAL RAFTER
UB356*171*45

PORTAL RAFTER
UB356*171*45

VALLEY GUTTER
VG1220

CRANE BEAM
UB457*191*98

CRANE BEAM
UB457*191*98

HAUNCH
UB356*171*45

PORTAL RAFTER
UB356*171*45

7667SOP

15000

27
00

SO
P

33
00

SO
P

Detail B

15000

COLUMN
UC356*406*551

CLADDING_RAIL
CFLZ175*65*20*2

BEAM
UB457*191*98

HAUNCH
UB356*171*45

CRANE BEAM
UB457*191*98

TIE BEAM
SHS100*100*3.0

EAVES GUTTER
915  GUTTER PRE-GAL 2MM THK

Detail A

Detail C

30
00

SO
P

10
59

2S
O

P

1350

1350

1350

533

1350

1350

25

1237

COLUMN
UC356*406*551

HAUNCH
UB356*171*45

PURLIN
CFLZ175*65*20*2

PORTAL RAFTER
UB356*171*45

Plate
FLT6*50

EAVES GUTTER
915  GUTTER PRE-GAL 2MM THK

STUB RAFTER
RSA50*50*6

PLATE
PLT6*47

SAG ROD
ROD12

CAP PLATE
PLT10*418.5

STIFFENER
PLT6*79

CLADDING_RAIL
CFLZ175*65*20*2

A

A

1093

27

60
10

0
10

0
18

0
10

0
90

997

21 12°

100

90
100

12°

21

PORTAL RAFTER
UB356*171*45

PORTAL RAFTER
UB356*171*45 PURLIN

CFLZ175*65*20*2

PURLIN STAY
RSA40*40*3

12 - 22 Ø HOLES
FOR M20 BOLTS
ISO 4017

4 - 18 Ø HOLES
FOR M16 BOLTS
ISO 4017

PLATE
FLT6*80

B

B

754754

1794 94

100

12°

21

60
90

90
10

0
70

45

PORTAL RAFTER
UB356*171*45

PORTAL RAFTER
UB356*171*45

COLUMN
UC356*406*551

HAUNCH
UB356*171*45

HAUNCH
UB356*171*45

PURLIN
CFLZ175*65*20*2

PURLIN
CFLZ175*65*20*2

PURLIN STAY
RSA40*40*3

VALLEY GUTTER
VG1220

2 - 14 Ø HOLES
FOR M12 BOLTS
4.8XOX

PLATE
PLT3*100

SAG_ROD
ROD12

VALLEY GUTTER_STRAP
PLT3*100

C

C

2478

10911091

100

12°

21

2112°

100

10 - 26 Ø HOLES
FOR M24 BOLTS
ISO 4017

END PLATE
FLT12*250 75

10
0

75

63
0

250

18
0

10
0

10
0

10
0

54
5

12 - 22 Ø HOLES
FOR M20 BOLTS
ISO 4017

END PLATE
FLT10*180

90

5050

180

60
70

90
90

75
END PLATE
FLT12*250

18
0

10 - 26 Ø HOLES
FOR M24 BOLTS
ISO 4017

75

90
65

5

250

10
0

10
0

10
0



h 
6QQQQ 

l <? � <p er !!fl <\D 9) <p � Cl) '¥> �I I 
I 
I 
I 

@------­

©------­

®-------
IQ

®-------

(i)------­

®------­
®-------
®-------

" 

I I I I I I I I I I I I I I 
I I I I I I I I I I I I I I I 
I I I I I I I I I I I I I I I I I I I I I I I � � � � � � � � ------<D

-1----,---4>----<p----,---4'----,---4>----<p----9---4'----,---1----<p---�111!3-------®
I I I I I I 1 I I : I I I 1 

-+---$---t---+---$---+---$---t---4---<l)---+---$---+--4--, 
I I I I I 1 I I I l I I I I 

-4---4---4---4---$---4----$---4---4---<'J---4---$---4---4--�111!3-------©
I I I l I I I I I r I I I I 
I I I I I I 1 I I I I I I --©----$----©----<ll----©----©----EB----©------<B-----<p-----<ll----EB----©------<B---,

tr-@-@--@-@-tr-@-@-iJ-ffi-tT-@-@--@-, 
-4----$---4---4---$---4----$---4---4---4i---4---$---4---4--,

I I I I I I I I I : I I I I 
I I ! I I I I I 1 l I I I 

--©----$----©------<B----©----©----EB----©----<ll-----<p-----G----EB----©----<ll---, 
I I I I I I I I I I I I I I 
I I I I I I I I I I I I I 

-+---$---t---+---$---+---$---t---+---9-----<J,---$---t---+--
I I I I I r r I I : I I I I 

-+--4---�--4---$---+---$---�--4---<1)---4---$---�--4--, 
I I I I I I I I I I I l I I 

-------® 

-------® 

-------® 

-------(z) 

-------® 
-------® 
-------@ 

, ��-w�...J"lll-'1-w-�-ww-�-------0 @----------T---7----,---7----,---T -,----,---7----, ---· I ---,---7----,---,--------@ 
I I I I I I I I I I I I l I I 
l I I I I I I I I I I I I I I I 
I I I I I I I I I I I I I I I 

@--------J---�----�---J----L---J -1----�---J----L ----�---�---J----L---J--------0I I I 1 I I I I I I I I I l I 
I I I I I l""ie-l---'---'---'--= I I I 1 l 
I 1 I I I I I l I I : I I I I t 
I I I I ! I I I I I I I I I I I 
I l I I I I I I I I I I I I I I 

® ® <6 ® ® ® I ® �69ap 0 I ® cb ® ® @ ® 

PILE FOUNDATION LAYOUT 

SCALE 1:_5 

A ! B A 

I�' I I 

I I 

uCI=Ev_J __ 
-7 

11111111 :i

H=16M 

GI II-QEE I E',LEL 

04 
/./,-----02 

TYPICAL PILE SECTION 2 _c2 
SCALE 1:25 

COLUMN FOOTING.PILES AND COLUMN 
$CAI E 1·5 

General Not� 

1.COLUMN FOOTINGS,
PILES AND COLUMNS 
ARE NOT DRAWN TO
SCALE.
2.ALL DIMENSIONS ARE
IN MM UNLESS 
STATED OTHERWISE. 
3.USE CONCRETE
CLASS 30/25.

4. COLUMNS ARE TO BE
PLACED 4000MM c/c
ALONG THE LENGTH
AND 3000MM c/c ALONG
THE WIDTH.

PILE LAYOUT 
FOUNDATION, 
PILE SECTION, 

DRAWN BY: 
SHERLY AGUNDA 
KELVIN MUTURI 

CHECKED BY: 
PETER ODIPO 

No. R11vision/!ss1.1e Doto 

�---

KenGen 
c ... ,.,...,,,..,..,..., 

www.kengen.co.ke 

f'o't,),d---

- -

20/03/2024 1OUTOF1
-

CONSTRUCTION OF 
CENTRAL MECHANICAL 
WORKSHOP IN 
GEOTHERMAL INDUSTRIAL 
PARK


	KGN OPS 006 2024 DRAWINGS
	Workshop Mr. Odipo1 (1)
	Workshop Mr. Odipo2 (1)
	DRAWINGS_CRANE BUILDING

	drawing piles 1 (2)



